

Letting:

Florida Department of Transportation

12/18/2020

Page 1 of 1

Vendor Ranking

ΑM

04201218

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 44589327201 (*)

Contract Desc: TREASURE COAST CONCRETE REPAIR - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AMERICAN DESIGN ENGINEERING CON	Responsive	Winning bid	\$191,631.50	100.00%
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$218,949.31	114.26%
3	LEON AMERICA CONSTRUCTION,LLC	Responsive	Non-Winning Bid	\$230,006.35	120.03%
4	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$282,510.00	147.42%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 01/26/21 BEGIN TIME: 10:30 AM END DATE: 01/29/21 END TIME: 10:30 AM





Tabulation of Bids

Page 1 of 5

Letting:04201218December 18, 2020Call Order:001Contract:E4U68District:District 4Counties:DIST/ST-WIDEFed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 44589327201 (*)

Contract Descr: TREASURE COAST CONCRETE REPAIR - ROUTINE MAINTENANCE

The work under this Contract consists of all labor, materials, equipment, and incidentals to perform miscellaneous and

sidewalk repairs in St. Lucie, Martin, and Indian River Counties.

MAXIMUM LIMITING: The award amount and the contract performance bond shall be based on the maximum limiting

budget amount of \$300,000.00 and not the contractor's bid total

REQUIRED SUBMITTAL WITH BID: Experience in Concrete Pavement Repair. Work experience form must be submitted with the bid.

PERFORMANCE BOND: A Contract / Performance bond is required for this project

	e No / Item ID	Alternate	Quantity Units	(1) AMERICA ENGINEER		(2) ROGAR MA CONSULTING	OF FLORIDA		AMERICA CTION,LLC
	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (SODDING (SY						
0005 REMO	0110 4 10 VAL OF EXISTI	NG CONCRETE	3,600.000 SY	9.00000	32,400.00	0.01000	36.00	1.00000	3,600.00
0010 EMBAN	0120 6 NKMENT		296.000 CY	5.25000	1,554.00	0.01000	2.96	1.00000	296.00
	0121 70 2 ABLE FILL, MAI RACTS ONLY	NTENANCE	100.000 CY	95.00000	9,500.00	61.00000	6,100.00	1.00000	100.00
0020 CONCE	0520 1 10 RETE CURB &	GUTTER, TYPE	400.000 F LF	18.00000	7,200.00	0.01000	4.00	25.00000	10,000.00
	0522 1 RETE SIDEWAI WAYS, 4" THIC		1,800.000 SY	33.50000	60,300.00	78.61000	141,498.00	57.00000	102,600.00





Tabulation of Bids

Page 2 of 5

Letting:	. 04201	218 D	ecember 18, 2	2020 Cal	l Order: 001		Contract:	E4U68	
Line No / Item ID Alternate Quantity Item Description Units		Quantity Units	(1) AMERICAN DESIGN ENGINEERING CON		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) LEON AMERICA CONSTRUCTION,LLC		
() indic	cates item is bid as l	Lump Sum		Unit Price	Ext Amount	Unit Price LL	.C Ext Amount	Unit Price	Ext Amount
	SECTION: 000	01 (9	SODDING (SY						
CONCRE	0522 2 TE SIDEWALK A AYS, 6" THICK	ND	1,800.000 SY	41.30000	74,340.00	39.61000	71,298.00	63.00000	113,400.00
	0527 2 ABLE WARNINGS	8	500.000 SF	10.00000	5,000.00	0.01000	5.00	0.01000	5.00
0040 SODDING	E575 1 G		535.000 SY	2.50000	1,337.50	0.01000	5.35	0.01000	5.35
	0001 SODDIN	NG (SY) Sec	ction Totals:		\$191,631.50 [']		\$218,949.31		\$230,006.35
	Co	ntract Gra	nd Totals:		\$191,631.50		\$218,949.31		230,006.35



12/18/2020

Tabulation of Bids

Page 3 of 5

Lettin	g:	04201218	December 18,	2020 Cal	l Order: 001		Contract:	E4U68	
Line No / Item ID Alternate Item Description		te Quantity Units	CONCEDUCTION INC						
() in	dicates item is	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION	: 0001	(SODDING (SY						
0005 REMO\	0110 4 10 /AL OF EXIS	TING CONCRE	3,600.000 TE SY	12.00000	43,200.00				
0010 EMBAN	0120 6 IKMENT		296.000 CY	30.00000	8,880.00				
	0121 70 2 ABLE FILL, M RACTS ONLY	AINTENANCE	100.000 CY	89.00000	8,900.00				
0020 CONCR	0520 1 10 RETE CURB 8	& GUTTER, TYP	400.000 PEF LF	30.00000	12,000.00				
	0522 1 RETE SIDEW WAYS, 4" TH		1,800.000 SY	48.50000	87,300.00				
	0522 2 RETE SIDEW WAYS, 6" THI		1,800.000 SY	60.25000	108,450.00				
0035 DETEC	0527 2 TABLE WAR	NINGS	500.000 SF	19.00000	9,500.00				
0040 SODDII	E575 1 NG		535.000 SY	8.00000	4,280.00				
	0004 C	ODDING (SV)	Seetlen Teteler		\$292 E40 00				

0001 SODDING (SY) Section Totals:

\$282,510.00



12/18/2020

Tabulation of Bids

Page 4 of 5

Letting:	04201218	December 18,	2020 C a	all Order: 001		Contract:	E4U68	
Line No / Item ID Alternate Quantity Item Description Units		(4) WRANGLER CONSTRUCTION INC.						
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	Contract G	rand Totals:		\$282,510.00				



12/18/2020

Tabulation of Bids

Page 5 of 5

Letting: 04201218

8 December 18, 2020

Call Order: 001

Contract:

E4U68

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.